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1 =2 (2=

w0 |1
(C) 256 (D)-256-

2. What is the exact area of the shaded figure

ki

(B).26 Sq Units
(D) 28 Sq Units

. {A) 19 Sq Units
(CY27 3¢ Units

3. The southernmost po{nl of peninstlar India ‘that ié,
Kanyakuman is . '

- Norh of. Tropis - of ~ B.  Southof Equator -
Cancer E _ , : )
VC Sodth of Tropic of

- Gapricom - . Noith aquuator--

4, Sir CV. Raman was awarded Nobel Prize for his wark _7

connectzd with which of the follawing phencmenon of radiation?

A Scatteing  B.  Difraction
C. 'in{er{efénce .. D, Polarization.
5, Qne-nandm'eter is equ‘a.l o

O -

Coom - D. dodm.

8. Light from. the Sun reaches us in nearly

A 2mintes - B 4mintges

C'.- 8 minwtes ‘ 0, 12 minutes .

A ‘forée_ T B :

7. In the figure

) Area of ABCE <.Araz of BCFE
) “Area of ABGD > Area of BCFE -
) -Area of ABCD = Area of BOFE . ’
) Area of ABCD & Area of BCFE canno t be compared

A
S
- (©
(®

8 In the dagrarn at the aght; MATH s a reciangie FBG=

9, HM =12, and HT = 3, what is fhe ‘area of the shaded region

“ofthe dlagram’?

T Y S A

" B} 360°Sq Unis

(A) 495 S Lnits ,
- {D}35.5q Urits -

{C}225 5q Urits . -
$. Pick aut the scalar quantity
pressire
C.- valocity oD

accaleration. -

10. A Russian mathematician can solve-g questions in 1/ hours.
At this rate how many guesiions can she solve in g hours?

A hg -~ B A

C. thg T D -hig

41, in Bengaluru ratio of male to fernale infemet users is 14,

Number of male users is increased by 20% and that of female

users_is increased by 10%. What is. the over all increase [

intemet sers in Bengalum’?

A% B i

T 10% R
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.12, Sound waves in air are

A ansverse "B longitudinal

L, electromagnelic’ - - D - - polarised

3. Of the following propemes of .2 wave the one- that is.

|ndependen t of the others is its
“A ampliude . B, velodly
C. wavelengh . .D. frequency
14, The Radclifs ine is a boundary between -
A Inde-Pakistan . ‘B india-China -

C. . india-Myanmar : © D, Indie-Afghanistan

18, Sound produced-at a point is heard by a person afier-5
- second, white the.same sound is heard by another persan after 6
seconds. If the speed-of sound is 300 s, what could be the
maximum and minimum distances between the two persons?

A, 18&km odskm . B 22km 02km

¢ 2.8Kkm 0.25km B, 33km 030 km
1. Méch number is uséd in connection with tha speed af -
‘A soend B, aircrait -

C. spacécréﬁ " ..D. ships

i7. The algebraic sum ‘of the resolved. parts of a number of

" forces in a given direction Is equal-fo the resolved part of their
" resultant in the same direction. Thisis knownas

“prnciple . of o
. OV principle . of
A ;r;?:gsendence, o . resolution aof forces
E principlé of o
C. transmissibiity of D, noneofthese

 forces

'-iB.'_If the resuitant of two equa forces has the same magnitude
as either of the forces, then angle batween tha fwo farces is

Ak 80 B

CCoee R

' ‘C;'.“'fcaur-'- _ '-‘ _ o,

, 19 Solar echipse will take place when

: the sun-is beiween Ehe moon and the

A.
earth
‘B _ the earlh is between the moon and the
) SUn T -

- the moon is beiween the sur\ and the
C.
- . earth .
br o the maon daes not ie on ihe fine joining

: the SUR. and the Earh

20. Minimum number of unequal vectors whlch can gwe Zero

" resultant are

A..‘ e - B, three

* more than four
24, The oidest rmauntains in india;are:v ' S
A AvavalisT B “Vindhyas .

o Satpu'rias - D. " il hils

.22, Whlch of the foilowing measures. are gffective for sall -
. conservation in India? -

.. Avoiding crop mtatlon
- Afforestation” -
L Encuurag ng the use of, chemlcal fertilizers.
IV, Limifing shifing culvation -

AR T B R
S mew oo Do pnadr

23 A gard'ener. brought 5 rabbits, after 2 months rabbits became -

10, and after 4 months theybacame.20. If the growth continues
on the same ratlo wha{ Would be the. amount of ratbits aﬁer 1,

‘year‘?
M0 (B) 320
@0 . Db

24, A dice is lossed only onee, What is the probablhty that the
~number is lesshan 37

mo (B)-wét-
ORI DR
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25. Planets do nol twinkle because
A..  theyemit light of a constant intensily

5 their distance from the earth does not change with '
' fime

hey are very far away from the earth resuitmg in
C.
decrease in intensity of ligh

. ihey are neater 0 earih and hence we' receive a
D, greater amount of hight and, thersfore mincr.
_?variaiions in thelnten_sity -are not ncticeable .

* 26, The. differance between squares EJE consecutwe naturaf
numbess form a series thatis a

‘(A) Series of Even Numbers

(B) Series of Odd Numbers . ‘
(C) Serles of Aliernating. Even and: Odd Nurnbers s
o .

}None of the'above
27, What s the value of V137

" (A)3.524 (B} 3.552

- {
T {C) a 605 . =(D).3,615
} - - 28, The radlus of c:rcie IS mcreased by 20% its area cs mcreased
T ‘ by: ' ‘
A 4% . T B Aot

c. 2% D A%

batwesn Gald, Meta% and ch7 ‘
_ _ ~ ) /_Ph y
. ' _ “ﬁ\\ B g

\J*

30. Find the 50th term of the sequenee 8, -2,-9,-18,

C(AR3s2 (3}-338

(€) -343 (D) 321 _-

© 32.Find the sum

.'(C) ‘['14 25 5].'

(A )Low Frequency '
“{C} High Frequency

29: WhICh of the follownng diagrams indicates the hest Felatlon S

30K ' o

8 13070 5 9]
208 2 2 4
06 3 2 1 4

4=73 3 3 0 4 3

"_'Z,U ANV Y
2360 13
2.0 3 0 3.0

: _then. o.rder ofiMa_trix'_P.\ is

(A)6XT ' BY7x7

(€) 7x8.

- D)6x6 -

1 27 Ta 5 6
, Tl
o 3

711 9

(;\)[5':“7 5}"7 -"(B)[Jf ‘é__ B].

A7 87 1Ed
07 389 =(D),Ncme ef.the abo\(e

33 %f a pomon af the electromagnetlc spectrurn has 3 short

o - wavefenghftalso has . -

(B} Low Energy'_f ‘
(D} Long 'Waveiengih
34, From a group of 7 men and & women, five’ persons are o be

selacied to form a-commitiee so that at ieast 3 men are thers on
the committes. tn°how many ways can-it be done?.

A48 845

C. 78 <7 D 7%

35.1n a given set of n- -slements and ifa sub sel cans s%mg of r-

alaments shal! be fomled then generaii

(A} Number -of combinations are rtmes the number of
© permutations .
(B) HNumber. of permutations are rimes the number of
" combinations. :

" (C) Number of permutations and the number of combmaﬂons
) ‘have no relation

" (D} None of the above
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37.
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{A}
(B}
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38.
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(A)
(B8):
(C)
(O}

39.
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36. Which of the fohowmg 0roups of s*sates nas ! he argest
deposits of iron org?

A Andhra Pr_adeshrand Kamataka -
B. Bihar and Onssa

C.. - Madhya Pradesh and Maharashtra

D: West Benga! and Assam

37 If from set of natural numbers 1 o9, 1800 times selecnon s

randomly done than the number of. times. 3 is expeded to come
i

(A 180
(B) 800

(C) 200

D 500,

38 Generally, in an asymmetrcal dstnbutlﬂn the relation

 between Mean, Median and Made is

(A)Mode =3 Med ian — 2 Mean
(B 2 Mean = 3 Median + Moce
(C) Median = 2/3 x {Mean + Mode]
(D) Mode =2 Mean ~3:Median

39, The dlstnbuﬂon of school chlidren WIth respect to five typas

of colour of their eyes; viz (i) Black (i} Brown (iii) Dark Brown {iv)

‘Green (v) Grey, Is graphical\y best represented using.

{A) Histogram .
i) F‘ie Chart

{B) Line Char’t
(53 Scat’{ered Data Chast

40.Let AM= arithmetic mean, GM geumetnc mean, and HiM=
hammonic mean. The: relanonship between lhe three is given by

the formula

(A} AM = HA'= GME (B)AMXGN HME
(C Gl x b = AP (D) AM = GM = Gl = HM

&1, in an rsosca%es riangle the penmeter is 180 cm and the base

measures 80 cm, Calculate the pedmeter of a square- wﬁh area

{250 the area-of the friangle.

(A} 203 (&) 1543

(C) 2443 | O RvE

(
{
(C) Variation of data from Perfect Square
- (D) Variation-of data from Hs Median ’ ‘
" 43, [ a Data Set A has Mean of 17 and-Standard Dewattcn of

42, Standard‘Deviaﬁon of 2 setof datals _a- measure of

A} Vana fion of data from its hMean - 7
B) Variatien of data from its Start Point

8.5 and Oata Set B has Mean 8 and standard distribution 4. 25,
then which Data Sethas higher Coefficlent of Variation vy -

(A )

BB

(C )Cannet be deterrmned
Dy

Both Sals have equal TV

‘ 44 The fol&owmg is.an example ofan equahan

(A)3x+2y 457 (8)9?5
C )5x2+75y3>1 (D)a.'-

45, Fmd the sum of e lntencr angles of the verhces of & ﬁve
pcnnted star mscrlbed inac rcle

AfSG BT
ot i

. 48, %f o and ﬁ are zeroes. of f{x)"x2 +x+1 then a+ﬂ!3 is- equai fo

(A
)

PR '{B)a”
A e

(
(C

. AT What is the exact area of the shaded figure

L A

(A} 20.Sq Units -
{C) 27 Sq Units -

Ut

" (B)26.55q Units
(D)27. 5°Sq Unils
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4B OFF sads b HobFrivd) Sobeddn wems

833 wadd ey rocerieny, Beofdis wdce
o, ahed, wsd D Ay
A Dasy roog & hdwgaiy

49 .ot g desdab Sog 15am % 10 cm resm
700 woutin wmgsE e wobne mest, 15cm
X 10cm moz 25¢cm X Scm R VTENDY, escde
SoTdy Redro o) vednd engdoiss,

. 600 2. 840

d 800 B, 950

30. womh mdd elymeed RURENERATE.
a0 10-3m B 106m

& 109m . &  1oum

S ey e QT TEDednid o0 sealined,
5Tz é.)z@oéoj)g’)ﬁm‘g, w0 Uhahsed wodk woos
@0 wRecd Tabablonn, adde seabrish .ol
DiatnaEsd,

. e © e esedert

hoSelmes 8 woss:

53, s momngob sonsh  almmenos  IredmA-

HORDALES, Ry whabes sidend 7

D Thoen ridat g0 8. kahad 2end

R Beom B B &ah goem

530 Aacbrg mﬁ&?ﬁﬁﬁ)ﬂl_ [ODEROr azlorh

=3
e0TRESeRAS 7
@. 5000 degrees F e 6000 degrees F
A 7000 degrees F - & 212degreasF

54. Bwoah St wem, deatrish D), Teelhed.

&, DG mirterid T Jeing shbin ehedy
DEnEsIaE ERLena &3d
Lo ®Eed sband G e ecdad Destrish

el

55 deddead  esdidabe)  LIODOOOD e e
TEAGTES,
2. tem=i0km . im=1mie

&, 1"=6 mile & 1om=1km

36, 08 2l wE Sogd ot yend cimaic 7

&2 ohuadeest 23 odial
4. Y080 waledy B edw

57. equafion x2+kx+g=0 T Twee Heodda k.o ed
& Py abmegmd?

. 6 . @ -4
=3 & 36

58 Aeobrwh d¥F alEa doomd@ seo (el Sozpod)
cdmEh ?

. 23-Jul -2 2d-dun

o 20-May & -hpr

59. & x@mmoed werbrad OReoeaien?

12 em 18 cm

48 cm
2. 606 o 2, 575 cmt
& B76cem? & 506 cm?
60. | 32 ob B8 ____ 3 wmms

. 78N 2. BON

A 98N & 12N

6L moch a¥e=r ?g#zjegaj ngd aezirdady, Thretos
(S el dmd&; —— BB

. fed. madmm mreeeh o, DeloeD HmE

[geimrwria)

20

ﬁmﬁ%; &0 TavmEm &,
[ghix-inn el

i&ddﬁ; D meah
TR Mfsaed
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)Saﬂ&

:‘)\%

%}'- l,

£8, Maienals far rain-proof coats-and ¢ ents owe ihelrwater~proof
propeities to

A Suriace Tension B ‘iiscosity

C. Specific Gravity D.  Elasicity

48, The floor of @ particul'ar réom :réquires 700 iles of size 15em.
- x 10¢m to cover it. How many liles will be required to cover the
-same fioor i _the- sze is “changed frcm 15cmx100m to.

- 25cmx50m°
A s00 B sdg

c.. 8o . - - ‘D, 950
5'0_. One thausand microns s equal to. -~
A e B Ci0m

C.. 10'9m o oD0 foem

5tk two bidies of different masses imtially at rest, are acted o
+ 7 upon by the same force for the same fime, then the bath bodies

acguire the same
A velodly B. - momentum

LN acceléra’ﬁdn 0. klnetcenergy

) 52, These "nvars of ica" are always siowiy an the move, What is

their corect name’?

A lee packs . B Snoweaps

: C Iceﬂbés D 'Glac_:iers,- -

(53, What s thge temperamre of the sun - estlmated al

approxumately'? - .
© A 5000 degrees F - B, 6000 dggrees F
‘C'-. ?(}00 degrees-F oD 212 degrees F

54 What do oontaurs on maps |nd|cate? .

A Thetemperaurein. 8.

) Helghts of !and
dlfferent areas.

_ above the sea

e The stream flow I;nes ‘D The ridgé lines

{A) 508 cm?

55. Whal does the scale 1. 1,000,000 represent in linear

_measura? 7 ‘
A tam=fokm B im=imie
o v-gmk D tem=ikm

56, Which s lhe most densoly populated continent?
- A -'Eurrohe‘ R .. B Asia
- G- NorhAmerca: . D, Afca

5l The sma Iest alue of k for whlch the equaimn x2+kx+9—0
* has.real roots is ' : .

Twe o {B)«é:.
IR R L

' 58, Whenis e Summer Solsﬁce?_

A ommi B 2idin

o 20My - D 3R

- B9, What is the area of 'thié pafa!iei!o;gramlﬂ, .

: 2 Ciny
(Cy676 cm?

80, One kg force is squal to
A TEN - 8, BN
c. 88N . D2

B1.. In’fensﬁy of sound at a pomt s its distznce fom the

SDU fce.

'.A . Directiy Apropbrﬂonai B lnversely propomunal
R - S o e

c " Directly ~ proportional .

lnversely proportionat
-io square-of

16 square of
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62 & I9AR oima mevsl =S58 wmorpe é.raegoimjé

T d

63. Geo sy, ST HONOADEDS. DHIomd
2. Gda  Imhdn il weadod e9a3%,5
Beom@mredn Zsabily mdabustich -

. @O werie uEE GHOR s
Briabush:

ze

ddézd TWehHBL FUTE wodod wéﬁéﬁr‘}
TEOCRENED ZEobah, sdobaiad

B den Oohgs 889 wehiay, sdaben

64, gdsce) “abewrard oy SOty &0
Dela ittt

&, e . Ro@EHt

N wsEhs B ahess

A

85, AP & oo@Ede eos 13 Ty =3y SSBe esom 25
'adae?j, T w08 Db
o 30 @ 33

-

37 & 38

66 3@ wah riedbab SDAS wemEArS Do
Fatozes 7

a, é‘Jaeg 2. - a8

o ome Zod B e o
67. woch Hred D& ©orh P, § Follioelos S wuc
abzy, 0 sinamost snch @Eeabds dealobad oo Q

=
8¢ Iommrimomdy 0Q=12cm shthed, PG © erocg

& 12em 22 13cm

bW BScm & 119

o | xRy 28,

68. &ey bcm GEC Snodhs 0 dod mechibs
Aot P Jows, #secR tfangents PQ =& PR 1,
=BT edobemibzm. PQOR WETTE  Dyecarsy)
AT

&, 12cm? 2, 24 om?
A& 48 em? . B, 86cm?
69, yaxs @ oeohob  e.och, A5 =bah B(4,3)

oot ridors mmoédmﬁgq eazd)
esfcyes.

o (03) @ (04)
W08 & (09

70, 39A% watns ABCD deam gk, meASE=30° shih

M<CFE = 1442, m<BEF domsanfacmb,

Bogee T B gpe

7. SebemmhON SReedd drbovd 4003 cm? a,
B o Db woeh ddes wohoveah 273 S|
B, Wbl e gelnm ¢ Abunay Stes
B Shettdeld Wb wead  Bewd eudoy
Sgmea.

. 43 D 4003

Ao40ia B {spa

2. ool Sy wsos degoed s@e SeGaa,
o 7 '

o, anamta o ega_j';eam

L e B yoos

73 E BNS meEnerh dabok:

@) $rognd sbamrdauasel @hatug STy
&) 0T, Tekonvd Tdald 92 wootoes S0rdy
B0 DB adrs e, wetEh @

2 &JJB@

hNoTEE® L 8 Lahe) 2 oore v
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£2. Which of the foiioWihg drainage sysiams fal! inte Bay of

Bengai? o :

A Ganga, Brahmaputra and Godavan
B.  Mahanadi, Krishna and'Cauvefy

C { uni, Namada and Tapi -

D Bobfaandf)

8l Raiiway iracks are bahked on jCLiwes

A nécassar_y centrifugal force may be obtained from
~ the horizontal component weight of the rain -

B, o avoid fricional force between the tracks and
wheels o T

i . . necessary cenifipeia\ force_"may be obtained. from
the horizontal component of the weight of the train

D, the train may notfly off in the oppasite direction

64, The Yarlung Zangbo-river,' in india, s known a3
- A Ganga . B - Indug

¢ Bbmaputa . D Mahanad

&% wihe 2nd term.of an AP, is 13 and the 5th term is 25 what s

‘ _ihe?lh tarm ]
(A)ée. S .'-'(_B)BS-
@3 - ()38

called? _
A Abay B Agif
. -AStEt )

An isthmgs

87, Atangent PQ 2t a point P of & circle of radius 5 ¢m mests &
line through the centre O at a point Q so hat 00=12cm Length
SPQis - L »
{A)12em
{C}8.5cm

.' (Bj_mcm'. ,
(D}\fﬁgcrn"'.

)08

86, What is a namow waiér—way -sepﬁ%aﬁag two bits of fand '

L (cydoma

. C. Canada 7

68 From a point P which is al a disiance from the centre O of 2
circle of radius & cm, the pair of tangents- PQ And PR are drawn
fothe dircls .Then the area of quadt_'ilataral.PQOR is’

(B} 24 om?
(D) g6 em?

{A) 12cm?
(C} 48 cm®

' ~ BY.A ;ﬁoinl an y-axis eduidistantfro-m {h_e‘poiht:A(G,E}and B(4.3)

g L
Swed . B 0.4
- P09

0. W the” disgram of rectangle “ABCD below, m<ABE 7307

. and i<CFE = 1440, Findm<BEF .

E DA F [::

[ "'-"F{..
T

i

A
|

.‘ﬁ.':‘

e Else
clade - [} 9C°

74. An equilateral triangie has the area}éf'tlDG?h cm 2 and is

" equwalent to 23 of an isosceles irfangle.” Calculates the

meastire of the height of the isoscefes tiangle knowing that the
base of the isosceles tangle is three fimes that of the equiiateral -
{riangie. . - ‘ : ! R
{BY 4043
(D) 153

(A) 4043

72. Which muntry_ has the lérge_st coast fine? .
A USA ' B. ~ Australia

- B India
73. Consider the following '_staterﬁénts;: _

A There.are no east flowing riversin Kerala, ]
2. There are no west flowing rivers in Madhya Pradesh.

* \Which of the statementsrgi'ven _ébove is { are correct’?'

A tonly o B 2only
C. Bothtand2 D, HNeither 1 nor 2
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T {xry S G+ Tye) sty Y ot

. XFExydH By & Tx +yf 4 Ty2 + 3y + dy? +i2

W 0 Ty F T byt Ty ¢ 28y + 43 +12

9

Mo X Xy s TRy Ty + YR £ 28y £y 2
B x2Exyi 4 Bxy b Tx yd Ty 4 3y £ 3412

75. @ﬁcﬂa‘g é)?_\‘,xss:'arde% DR eamr ﬁg.‘éfrif-:ia t—:cé ﬁabg
a:’.raerb\édg, s hems  apmens é‘J?_\_;esaFﬁa“g{ [Sirelal
BOLIFEY FomHEE0. '

1 L imches

11 imches
. 30,257 sq.n ©. 90757 sq.in
R 129 - 30.26% sq.n 8. 121 -90.75x% sq.dn

768, 36, 48, 84, 108 moae ebdmib wombud

emaisres -

EsE 5‘ ZD.. 8

2@

4 & 42

77,10 obadtFne drerdda Bons SoHe

D 52 L (1%

9

s ) B 25v7

T8 Rriaedr ot D @l dag G 7

& D3aim 2. odnasfo.
L. esBedadm & Soome
El

79. B ridal @oesgtee OEH?

& v ﬁ.j W g . y=2x.3
l
N —_,l;-‘-_-": B oy=0x-3

BO. @ dvAT  uEmd, dewmnst  EeBhoioos
TAISWED. m<DBC absyy, somioBond.
E\’hh X g
.
. ‘
DR+ 2% 4 —3 ::'Lr:\i*‘*‘@

A 2 _ o
. 250 2. {25°

q

s 155° B qsy

BL (2 + 12¢ + 36) o AT cmamr wowlecer b
Swiieet

S eB)e?) W (x4 8)

9

S (x+55) B frad)(x+9)

32 = mﬁ:a‘;aeaaﬁ;)éob ﬁdd@é@b@_‘ BT 20BOTH0
hq=10in,

h=58in

I

bo= 14 in

D 60 =g medd 9. 50 ©#ohd mos

A 40 debn med B 70wt med

8. sgdab dubodsahed ?
b1

i [ i i
: i H

- P

®. Tucho ahe D 8aEbd e,

& 9udhd ahe. & 10uchd aha
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e

74. Caloulate {x +y + 4)(xr ¥ = 1¥%3) 80, In the diagram at beiow, the angles are-represenled as
_ : o shown. Find the m<DEC. e
(A}x2+xy3+8xyﬂx+y€+?y1+31y+4y3+12 - o
(B)x2+ 20y8 T Ty # Ty +yh e Ty + 28y Ay 12
. (C)x2+><y3+7xy+7x+y4+?y2f28y+y3+12 _
g . )] R N RRLEE AREV AR #2

'{5 Find the ausmber of square‘inches'iﬁ the area of the shaded -
_region of this square winich is being intersected by two
samicircles. I S

W B
- [Cl4ss [D11set-

8 G+l +3f)isa foerfect équare irinormial-of

e {A)(x+6§(x+7) ‘-L(E,_)(ﬁs)ﬁ.
11 m‘"‘i“‘"" N Ol (D} (xS}

.11 nches 82, Find the ares of the polygon '

BT m

N N2Tsgin (B)90T5Tsan -
(Cy 124~ 30.2570 sq.fn (D} 121.-80.75T sqin.

76. The Highest Colmmon:Facto.r (Hé?) of the numbers 18{ 3%,

,4-8‘84,'10815_‘ " E L hz‘-""l“l“’l ." - -
()4 o o2 ‘ R (AVBO Sqinch - - - {8Y 50 Sq ‘nch
‘ R : o . {O)t408ainen - - (B)70 Sq-inch -
77, The pedmeter of 8 square whose diagonal’s 10 units Is ; o :
WyE2 " (B) 10v2- S R .
e o S S IR 83. What s the area of the figure : R
(Cy20V2 LooPyesvz _ : e PR I T
e 5 o S R A U C
78. The largest country of the worid by geographical area is i % }] Jt P :
A Rus;}a', B usa . l — E 1 F—
RmR LB T T
C.  Austrafia - - D. Canada e T T --2 . L =
B o o ‘ N O B B S A o !
78, What is tha equation of this fine? | {L*ﬁ—r : 1! b
| L \ el bbb

M) 7Squnits - (B)8Sa Units
(€)9Sqnits .. -~ (D) 10°8q Units -

1 o
Al oy wTd B. y=2x-3
1 ' o
C. y=—gx¥72 D y=-2x-3
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84 eaﬁééo:beg a:magr BC=a=12cm AL =h= 16 cm e AB=c
e W, e g
[=] LB ~

D dpem @ 16 em

& zem & 8 cm

83 ol Do D 1S e (@zsé;ea?;) & 2.3’23235 =i
S petions SRLRAMEE. Sfawt woidvs 6 cm?
-az:{g, @zse‘bagzd BYrye :bt,iﬁd e.j,jré‘:;ﬂa 4 B.oe. 'adoe;);
Sbeas emhodatin, Fnas,

Q. {5eme ESRY o

B 24 eme B g

86, GweiuRobs (discriminant) = amme Restos
2Hk61-3k=0 = Asa DeBmErRAL,

S (ki) 0. k6
bkt 8. (B4
87, Tned cosls BfaeSrsh ___ c"’:;ao&)d)g'd.

o BEng emcoid Ehlourat=t)

D w0EBE amin 2as 300°

2

S0BRE Baemrivh 2%0 Sasac Vil BE'DEES
Brottes

-} ~28abh e.mdo 2.003¢ ex‘\‘umrs’degdjgtj

B % 8 wET wireimon T ForbRcns

20

13.9 B g

89 waderah e e (peninsular) SagE

sxexadics ;jaréaj =|REt _ g7 ;:ifci:@‘aa’.
®.  foah Zhew 2. @S miea)
i) B
NoodEdh ooy & =dah 35 Shen
[ i) [

9. oo aa; 3 O EeclT b s Sracms
Dherer

D 5166 omp 20866 cm2

& 3496 cm2 B 1732 am2

Ol BveEtrie detd 42y THEy Bxrky7=0 4

iR e Eeetad k & 339835 —
&, 10 o6

a3 & 1

92 $9AS 1m0 atwil Hrtvs o stoat ok

. ~ &
by o

. ToRled  om, ¥ a)

&  whamus

3 I
0, T
)

. oy ¥ & ¥ s oouten s 9 S deng

[-4 23

D WD wogesn, = Xy ab Bd (22%) = xy ap

B (eacs) wbe lll=xty? oty ity ()

o lakg D 1 g

a

Vol@®lang A [y

84, woch 20 wn x L o8 #esded 2 ea Sl g M)
.ﬁdt_.—s\? TREE D0 WG, R%E‘E'm'ia gﬂoﬁmg 2,003y
Oed gle gon Lpds %Jdeﬁadcfni SEB0EE.  Beae
R wes Dsiovisatad EXerer 23y eoBrige) e-:ysr‘.g?

- 156 sq.ft. 2 300 sqfL.

B 374 gqf, 2 8sqh

85, wo ToidTey) Ly 2,:’32:‘::&;%01392 135 &n eromey
SR, i) 2D ST atErs?
< f 2. 5

Moog & 7

96. Sﬂﬁmégcs' & BR0ATTE e ghedz BIoE Ge
5&23@ aierf‘deg T ada@%:ﬁeg, geoz st
230080 Tedme (induced voltage)

0. weRrd eveaivsn o, wBees

A desbarrhem &
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WS

L.

Side BC =a = 12cm, A¢ =p=16emand AB =c =20 em then
the radius R of the circte §5 . o
()16 cm

(D)8 cm

(A} 10 cm
{©)12em

- BSA tfapezoid is formed by.a squére and a-triangle. Given thai.

the ares of the tiangle is & cm® and that the difference betwsen

the hases of the trapezeid measures 4 cm, caleuiate the area of”

" ihe trapezoid. -
(A f5om2 (B 22om?
(C) 24 cm?

(£ 9 omé

N Discriminant of the qUadraﬁc'équaﬁcn 22+ (k-Bix-3k=0 18

-given by .
(A) (o @S
o ke 0y (6p

87. Similar tiangles have

(&)} Sides of same length '
(BYintemnal Angles that stm-up io 2000 -

IC) Intemal Angles have same fatio equaling 2
(D)

Length of the sides-are in same rafio

88, Find x1o the nearest lenth decimal place

(W69 [BE0.
(€138 [D}160

84, The zonal sofl type of,penins'ular india belongs fo.
A Red Saois . 8. Yellow Scils

c..  Black Sals b Older Aluvium

" 90, The arza of an equilateral triaﬁgie_ with side 23!3 cmis

5498 cm? | {(B)0.868 cm?
(C) 3,486 oni? (D) 1.732 >

91. The valtie otk fdr whish the pair of équations g+2y3=10

© and 5% 4%y + 7 = 0 has no solution is :

{Aho , @8
s . ot

.52, Whilch of the following important. rivers of India does nal

onginate from the Westem Ghats? ‘
A Cauvery g Godavari -

c. Wisna . D Mahanad

93, 1f x and y are primes greater ihén_Q which of thé following -

nust be true? 1=y Is even ii= xy is odd.lli=e-yt is even

oty B cllonly

¢ tadlosy - D Uladil

94, A20 fi. by 15 ﬂ._rswimming poal is summounded. by a 2 7. wide

sidewalk.- A fence an the edge of the sidewalk encloses: the
whole pool .area. What is the- area. in square feet- of anly the
sidewal? .
(A} 1586 sq.ft. (B)300sqft.

Cya7dsaft (D) 426 saft - -

95, A'iegulér potygen has aﬁ interior angle of 135 degrees, How
many sides-does ithava? _ .

',(A)e o [B)E

CE oy

96. If 4 loop in a basie dc generater suddenly begins rotating at a -
faster speed, the induced voltage . A

{A) Remains -un_ch.angegi ' (B.} increases

(C) Decraasas (D} Revarses pofarity.
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97, reluctance SEwe

= AW D Wh

2

lesla & Adm

S8. @Cbﬁmaaéeojj eSnee), maeso

2. B8owdechuterosc

B, ednd sy gmnd wokeSomerbed

20

eelnd emo TR momnbiemeria

& ddemmnos SEhode sShgishoy owmenthed

93. smotpokf A, B, € ebd) D womd efF JETS & wbob
o orhriwens. JETS 8 Dieces 36 &g, ADCD aby

BoTEs J A E
S, B 182

o
& g &, g

8

100 ates w08 (w8 e8) Rosiohoos 3600 &y eriwd
TRBGS e Doataer Fourdaerbed.

D450 D a5

Bogoo & 400

10l =mobes eﬁéﬁdﬁ Q—&dmﬁ@éﬁﬁ — D®ERd
LorBE RS, '
. Qoo %&L‘B% fd 2. OeBd eed

E

oL FOTRY c%o:barﬂ:’, S 2hEy

0 & Ldyeen®
QeOT ead) ’

102 89 o sogiabies o gy 400 eic o
Badne Barbhat. Sietng dedsn 300 whEd o
S BUET Werhy —— )

2. ZY et hEd
B & Ace Tespithiecs
A 2 Ao #asd amnhdd

B OOre abgEho sied wdoogdh, HRRmREtd
[ TIT0

103 wedvan  2x10 ;ﬁai) zEcbors E%&U Set
E.j;'u—c)té{’id Er‘:)dKiZJQ g7 a¢aingd. #EAd  odragcd
oD 38, -

&, T e,i_raaaoj)n‘;'a{ 2x10° N 2hedd @dodnsnd

B W den dedc’ tIobabaly, 2x105 N Dy B ez

&, den dees® medain souady 2x10°5 N &hed bz

& wm gledoobdy 2x105 N #9 Begnd

104, woch 25 N @#8dabsy, surddos Bedees
#ed 22 N e wobos odabesrbds @k
T Batsor Zos Ssrooh o 03 Seriabh

Sl dgreaid) dooboows. g o= 10m/s? ay
ervaiaieeRd,

o, 18mk? 2. 48 mis?

Ao SBmig &.

8.8 m/s?

05. 5 422 womeddos 20 rg dedw roozd, 100 mst
Srbos deicd, vorpds Gzl

& 04ms! ., Odmst
E

a.  1mst & 2ms!

106. {xt + 5x +4) shay (2 + 7x+6) I wovsmh TR,
[ Lo

S (x+4) . -. {x+B)

o) Bt 1)+ 4)(x + B)

107. 558 ABCD ob wicic ewid dondiahoms

B
It D
2]
A
&. 504 5q. unifs 2. 872 5q. unifs
Ao 7EBsqouniis & 822 sq. unifs
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= q7. The unit for refuctance is
=y N - -
(A AMD BWb
{C)tesla . (D) Alm
b-@ 38: In elecﬁomagnetic waves, potarzation
= S - .

TN is catised By eflecon - <
* (B} is due lohe ransverse nature of he-waves
- (T reslis from the longitudinal nature of‘the‘wa\}'es- )

(D) is always vertical in an isolropic medium .

g3, Points A B, ¢, and.D are midpoints of the sides. o
square JETS. I the area of JETS s 36, the area of ABCDs

‘(an\)z
LDy

ez o
©9 :

100, What is the smallest number by which 3600 be,diided to
make it a perfect cube - '

(A} 450 L .(8)445
(oo o Djeo’

* {01, Theinfrared Tadiation by sun are strongly absorbed by

A.- Carbon .Dii)xide - B WaierVapo'ur:
c "Sarbon dioxide &'Wa_ier_ D Orone
apotirs . i

402. Light- goes from medium A {0 medium B at angle of
incidence of 40 degrees. The angle of refraction-is 30 degrees.
The speed of fightin B - o :
(&) is the-same s that in A
B greater than that in A
() isless than that inA

 medium

107, Find the area of the igare ABCD

(D) maybe any of ‘lhese, depending o0 the speciiic

403, The Earth pulls down on a rairoad passengef_ car with an
a;tibn force of 2¢10; Which of the folio'_wing is there action force?

The car pulis Gp on.the Earth with 2X105N
The car push'es down on fhe raiiroad tracks with 2X10° N
The railroad tracks push up on the caf wilh X105 N

© The car pushes dowa on earth with X165 N

o 0w

404 &\.2'5 N box I pulied across a Hictionjsss: surface: by am:

applied: %orce of 22 N. The: cosfficient of Kinetic fctionbetween:
the box andthe surface is 0:3.Find the accelerationof - the - -
box, Use g = 10:mis? L

B 48
© D BE M

A29mst
.58 mis?

105,  the bullet of mass 20-g is fred flom 2oun of Skawith 2

velocity of 100 ms' then recoi of gun is

(B)-O Amst

Wodmst
my2 msﬂ

€)1 ms*

108 The HOF of _(_%2 i+ 4) and 2 + T oy
Weed o BEs
€yt 1) (O) (s s sy

.-»:_:C-',

2 o
218 o
\ SV ok~

'f-\_il‘: # o

{A) 504 sq. units - (B)672 sq.unils -
. {C 768 sq. units _{D)'8223q.1;n1{s o
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&, @i emtéﬁd s Ha® Shobai Eievint

(1], seh EEe Sedhced ridab R Sy
. T

o 4 2.

q
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a1 o eyl
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A
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G Segarcane

©(A) refuctanca
(C) permeability -

108,252 can be expressed'a-s’.a product of primes as:

- A, 2-bwos, 2-threes, 1-saverr B. :_HWDS, -threes, 1-seven .

C, . 4-threas, {-seven D. 1—Mns}_3-tha‘e'ea, F—

109 thch of the fonowmg crops needs ma)nrnum water per_

" hectare? . _
A Batey . B Maizs
D Wheat

-110. The abt ||ty ofa matenal to remain magnetlzed after removalz |

of the magnatizing force s kﬂDWn as

- (B) hyateresis K
- (D retentivity -

AT According to Pascais law the pressurs of gas in a vessal is

A, Different in different B. . Same in ali direction
- direction - o '
:C: Same-enly aiong . o Same only along

opposite.direcions - " normal directions

‘ 1'12.'Tr%'piepointcfwaleris , _
© A 27%Cat6it Kpa B, 273Kat81.6 Kpa -

C.' 273i6°Cat0611 Kpa . 273.16Kal 750 Kpa

143, The scarcity or crop failure of which of the following can
-cause a serious edible off crisis in fndia?’ ’

‘Ao cosonut B.  Groundnut

C.’ Lin'seed LD Musiard, .

414, Instantaneous and average veiocmes become equal whenr '

. body -
‘A haszeroacteleration B has uniform
) o acceleration
C has variable S}

moves in & circle
acceleration . .

| {CY4.5x104 N upwards

(&) 787407250200 - (
| (C) 787406250200 (D} 787406250200

115 A helicopter of mass 2.0 %109 kg Ases vertically wﬁh a
constant speed of 35'ms. Taking he acceleration fres fall as 10 -~
ms2, what is the resuitant force that is acting on the helicopter?

(WZeo - (B)3Lx104Ndownwards
(D) 7:5 x 104.N upwards

: 1116 The river Godavan is nften referred to as Vridha Ganga

because

' A: itis the older fiver of India

B “ of its 1arge SIZE and extent among he penmsular B
o ivers . .

~ there are a.fal rhj Iarge number of plignmage cenires e
c. .
sttuated on its banks

*iis iength s neariy the same as that of the river
Ganges ’

e

- 117, What is the- slope of the Ilne shown in the fgure at'the ..
below? T .

Al n Bl 34
[C] {3/4) D] -(4f3)'

: 118 Divide (x-y¥ (x+y) by (y+x};'(y x)g '

A (/s

C.1 'n:. (k)2 ey
$19, [FA = (1312348567 - (1312345267) % thenA =

By 767406250200

C120.A20 g ob_ject' fraveling to the right al 6.0 m s coliides

head on with a 30'g ebject travaling to the left at 7.04m s-1. What

is the loss in kinetic energy for the COHISIOﬂ if it was. pen‘ecily
inelastic? :

A 001
C.001kd

TN
D.104 ki
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194 Al Chammar lce cream Palour ice cream was sold in three
flavours: mango banana and vanilla.. One day total 800 cups

were sold and the ratio, of mango to banana to vanile was

5:42:3. How many vanilla-cups were sold that day?

A 450 ' B 135

c. s - D 23w

122, When 1t i5 naon- IST a’{ Allahabad in india, the hrne. ai

' Greemmch London, wull be

A Midnight GMT . B. -+1730 Hours

0. 0Rl0 Hous. D, Noneof these

123, A fraction bears the same raﬂo fo 1!9 as3/7 is fo 5. What -

is the fraction? 7 o
AL &8 B, 46

c. 718 S D 4105

124, Gas molecules of diffarent. massas in-the same comainer

-have the same average ‘franslaticnal kinetic energy whlch is

directly pFOpOftanal 1o i heir

A Volume .. B ' ﬁressure
o absolute 0. tme
. termperaiure . ,

" 125, Velocity of fight in vacuum is . -

(A) 300xi08mis.

{(B) 300x10%kmis o
(C) Light cannot traved in Vacuum

(D) 186,000 mfs -

126. A fady spends 10% of her budge on-uillity bifls and 75% of .

remaining-on food provisians. f she is laft with 558 what is her
total budget? ‘ . .

A e . B 1000

C. s&bg - - . - . -D. 1650

127. Raman has two elecironic ‘heepers cae of them beeps

every 5 seconds.the ather beeps every 11 seconds. If they are -
turned on al exactly the same time how.many imes during the -

next hour wilt bolh beepers beep at the same time?
. .65 E : . D, 65

A28, If >y=z which cannot be tue?

A xtysz o B owy=z

Co o oyrzewy D. ,,z'>x'y '

129, When a solencid is actwated the farce that moves the
plunger is .

. (A) an elécromagnetic field
(B) varying voltage
{C) a permanent magnetic field:
@) 8 steady current - :

130, In whlch direction is he Tropic of Caprmm in reia fionto- -
the Equator? - - : ‘

CA Neth T B South

G Bast .- _ D . West-

131 What do'you. cal a’ narrow neck m‘ Iand fat connects twq

larger Iandmasses?

A Perinsula B lhmus

c. Cape . -D.. . Strait )

132, What is the sumof aiE lhe nternal angles of the imregular
po%ygon beiow ‘

a3 @) sage
(C) 7200 (B)900°

133. Tne largest foﬁr digit number which'is a parfect cube, is: - '

7000 © . . -(R)sses
Cosi (D) 9999
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i34, f 35 +(125) = 17.88, fhen what wil be the vaiue

of V80 + BN5 7 _
Ao 134 B. . 2046
c. 2186 . . .D. 235

circumnference - of T - the . ‘circle.
(A) 314,459 (B} 282743
{C)392.599 {D)471.239 -

E J - 136, In the tfangle ABC first side measiring ‘1'5"crn,_ the second
B R 15 thres fimes the first and the third is 4/5 of a second, Calculate
R the side of an equelateral friangle whose penmeterfour fimes Ehat

of ABC.
(A) 480 ey (By2s6om
(Cy128cm, (D)g6om

the point in river enters the sea’?

A Esitary . B. Bay

c. G G . Delta

138. Where s the greatest oceen depth found? : 7

A iwine Afantc] - B. Inthe Dead Sea.

¢. Inthe indian Ocean. - D inthe PaciﬂcOcean.

rsver calied?
A Feeders - B Streams .-
- D Rivulets

C.  Tributaries

440, What is the principal sum?
L The sum amounts to Rs. 680 i 3 years ai S, I

Il The sum amounts to Rs. 750 in § years at S.1.

-l The rate of interest is 5% p.a.

A tand Warly
{ B, Ilandlii only
‘ C. landlony

D.  Anytwoof the three

135. The chord AB of a-circle is 60 cm and s at a distance of 40 .
cm from the center, Caloulate the measure of the length of the -

A '28?year$ . B

137, What is the name given to the wndened river mouth found at -

438, What are those smaller rvers that ﬂow |nlo a iarge main -

141, A tank that can be filed by an nlet pipe A in 12 howrs is
filled in 18 hours while out let pipe Bls opaned The ouflet plpe B -
Can emply the fult tankin

Ao 2Bhs B b

c. Tehis D. S0

142. A family consisis of two grandparents; wo-parents- and

* three grandchildren. The average age of the grandparents is 67 .

years, that' of the parenis is* 36 years and thal of the .
grandchildran Js § years. What s the average age of the family?" . -

31—5 I'S-. .
X =2}

t o :
C. 32? years D, Mone of these

143. The Ionosphere mcludes

A mesosphere
- 8. thefmosphere

. thermosphiese and exosphere

o

'D. " thermosphere, excsphere and mesesphers

144, The relafionship betwaen. the Highesf Cnmmdn Factor ©
(HCF)and Lawest Commcm Mulhple (LCM) of two gwen |ntegers -

s

HCF is-nevar aqual 1b'LCI\f .

LCN is equal to orless than HCF
D) LCM s more than or equal o HCF

{A)
(BLHCF is always less than LOM
(G}
()

R ER The fatituda of a place expresses its angular positlon
relative to { the.plane of .

A, Ads of Earth B Norh Poke

o ' South Pole” B 0. Equator

146 The outer Himalayas ke between _

A thelease Himaiayas and the Indo’ Gangeilc plaln
B. - the ioot hills and the indo Gangetic-pfaia
C. the greater Himalayas and the lesser Himalayas,

D.  indo-Gangetic ;i!ains and the peninsula
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P

147. The originating in. the Himalayan mountain -complex
consists of how many distinet drainage systems of the indian
Subcantinent?

A Two B Three

C, Fodr o D. Five .

148. The H.C.F. of wo n.umbe_rs_is 23 and the other two faciors -
of their ..M. are 13 and 14. The larger of the two numbers is:

A 278 B am

c o D, . 45

- 148, The diagonai of the floor of a rectanguiar closel is Seven

ard & Half feet. The shorter side of the closel is Four and a
Half feet: What is the asea of the.closet in square feet?

T 1
A B B
, 4 2
c - -

15{} £ is easier o roll a slcne up a sicpmg Toad than to } fiit

- vertical Upwards because.

A Work done in mlhng is"mdre than in hﬁmg
B wok done in lifing the stone” i equai fo rolimg 1t

o ‘work done in both s same “but the rate of domg -
C ‘wcwk is lessin millng -

oo wor_k dcane in rulllng‘a stone'is less than in fifting it
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COMPETITIVE EXAMINIATION - 2016 FOR RECRUTITEMENT 7O LAND SURVEYGR

Date: 31.01.2016 Subject: Specific Paper | Time: 2-30 PM to 5-10 PM
Maximum Marks: 200G {Total Duration: 160 Maximum Time for Answering:
' Minutes ' 150 Minutes

Candidate Registration Number Question Boakiet Details

Version Code

A

BOs
1. Enter correct Regisiraticn Number in the Answer Sheet in the prescribed place without fail.
2. Enter the version coda of the question paper in the answer sheet without fail,
3. Candidate shouid compuisorily sign at the specified piace of the Answer Sheet in the space provided
- without fail.
' DONTs
1. Tili the bett rings at 2-40 p.m:
« Do not remove the seal / staple present on the right hand side of this questmon booklet.
» Do not look inside this question bobkiet.
« Do nol start answering on the Answer Sheet.
‘ IMPORTANT INSTRUCTIONS TO CANDIDATES
1. The question booklet contains 150 questions and all questions carry equal marks.
2, Fach question has 4 answers out of which only one correct answer has to be selected and marked in the
answer sheet.
3. After the bell at 2.40 P.M, Question paper pin /seal be removed and stari answering the question paper. -
i 4. Inthe next 150 minutes,

s Read each question carefully.

»  Choose one correct answer from out of the four available options given under each guestion /
statement. In case you feef that there is more than one correct answer, mark any one answer which
you consider the best, In any case choose only one answer for each question / statement

s - There is no negative marking for wrong answers.

»  Completely darken / shade the relevant circle with a blue or biack ini ballpoint pen against the
question number on the Answer Sheet.

| Correct Method of shading option (B) on the Answers Sheet is as shown below;
OF JOIRO
5. Plaase note that even a minute unintended ink dot on the Answer Sheet will also be recognized and
recorded. Therefore avoid muitiple marking of any kind on the Answer Sheet.
5. Use the space provided on each page of the question hooklet for calculation work. Do not use the

Answer Sheet for the same.

7. After the last bell is rung 2t 5-10 p.m. stop writing on the Answer sheet.
8. Hand over the answer sheet to the room invigilator as it is.
9.

The key answers on answer sheet converted to PDF format will be released in website
hitp: / fwww, bhoomi.karnataka, cov.in/surveyorregruitment/

10. If you have any doubts in Kannada Versicn refer to English Version of the same.
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